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QUESTION 1

When referring to the Service Discoverability principle, the quality of interpretability refers to a service\\'s ability to be
effectively discovered at runtime by service consumer programs designed to carry out dynamic runtime discovery.
Select the correct answer. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 2

The service-oriented architectural model is business-driven so that it can stay in alignment with how the business may
change over time. Select the correct answer. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 3

Which of the following are considered characteristics associated with service-oriented technology architecture? Select
the correct answer. 

A. vendor-neutral 

B. business-driven 

C. enterprise-centric 

D. All of the above 

Correct Answer: D 

 

QUESTION 4

Besides the Standardized Service Contract principle, which of the following service- orientation principles are also
primarily focused on the design of the service contract? SELECT ALL THAT APPLY 

A. Service Autonomy 

B. Service Statelessness 

C. Service Discoverability 
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D. Service Abstraction 

Correct Answer: CD 

 

QUESTION 5

Which of the following statements is false? Select the correct answer. 

A. Increasing the quantity of data model transformation logic within a service composition results in an increase in the
development effort required to build the service composition due to an increase in the necessary data model mapping
logic. 

B. Increasing the quantity of data model transformation logic within a service composition results in a decrease in the
development effort required to build the service composition due to the fact that the intrinsic data model mapping logic
residing within services can be leveraged. 

C. Increasing the quantity of data model transformation logic within a service composition results in a decrease in the
performance of the service composition due to the need to execute the data model mapping logic at runtime. 

D. Increasing the quantity of data model transformation logic within a service composition results in an increase in the
architectural complexity of the service composition due to the incorporation of the additional data model transformation
layers. 

Correct Answer: B 
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